Id=[xX+y+z4+W,xXy+yZ+2W+WX, XY Z+YyZW+ZWX+WXY,xyzw-—1]
X+ Y+Z+W, WX+WZH+XY+YVZ WXY+WXZ+WYZ+XYZ WXYZ—1] (D

BC4 := Groebner|Basis|(1d, tdeg(x, y, z, W) );

[X+y+z+w, WH+2wy+), - W —wWy+wZ +yZ, -w—wWyt+rwz+wyz (2)
—i—WZZZ—l, M/5+W4y—W—)/, \/ngz—l-WZZS—W—Z, W4ZZ—2M;—W)/+WZ
+yz]

[ > nops(BC4);

i 7 (3)

[ 888888888888888&8E&ELEELERERELEEEELERELEEEERSE

i CALCULATION REDONE WITH CORRECT ComputeM

&
| &&&&88E888&8E8E8E88&EEEEEEEEEEEEEEEEEEEEEEEEEEES

coefflist :=proc(poly, monlist, termorder)
local Im, Ic, rest, list,
rest := poly,
list := [seq(0, i=1..nops(monlist) ) | -
while rest + 0 do
Im := LeadingMonomial(rest, termorder);
Ic := LeadingCoefficient(rest, termovrder);
# Iprint(Ic, Im);
i:=1;
while Im # monlist[i] do
I'=14+1;
# Iprint(i);
end do;
list[ i] == g
rest := expand(rest — Ic-Im);
#  Iprint(rest);
end do:
return(list);
end proc:

;> with( Groebner) :
> ComputeM :=proc(L, G, torder)

local H, ddone, mon, mat, AllTerms, AllMonoms, AlIMonomsList, SortedMonoms,
J, Xbeta, k, M,

H := convert(L, set);
ddone := {seq(LeadingMonomial( H[ i], torder), i=1..nops(H) ) };




AllTerms := {seq(op(H[i]), i=1.nops(H)) };
# Iprint(ddone, H, AllTerms);
AllMonoms = {seq(LeadingMonomial(AllTerms] j], torder), j=1
..hops(AllTerms) ) };
AllMonomsList :== convert( AllMonoms, list);
SortedMonoms := sort(AllMonomsList, (a, b) — TestOrder (b, a, torder) );
#Mon(H) as a list
# print(SortedMonoms);
while ddone # convert(SortedMonoms, set) do
J=1
while evalb( SortedMonoms] j]in ddone) do
J=Jj+tL
end do;
if j < nops(SortedMonoms) then
Xxbeta := SortedMonoms] j|;
# print(xbeta);
ddone := ddone union { xbeta};
k:=1;

while (k < nops(G)) and denom(

k:=k+1;
end do;
if k < nops(G) then

. xbeta
H=H -G[K] | §
vnion {exp and( LeadingMonomial( G[ k], torder) 6l ]) }’

xbeta
LeadingMonomial( G[ k], torder)

)ildo

end if;
end if;
AllTerms := {seq(op(H][i]), i=1..nops(H)) };
AllMonoms = {seq(LeadingMonomial(AllTerms] j], torder), j=1
.nops(AllTerms)) };
AllMonomsList := convert(AllMonoms, list);
SortedMonoms := sort(AllMonomsList, (a, b) — TestOrder (b, a, torder) );
#Mon(H) as a list
end do;
# print(H);
M = Matrix([seq( coefflist(H[ j], SortedMonoms, torder), j=1.nops(H)) |);
return(M, SortedMonoms)
end proc:

=> Mat2 = ComputeM ([ expand(y-1d[1]), Id[2]], Id, tdeg(x, y, z, w))[1];
1110100

Matz=|1 011010
0001111

(4)



\j MonlList2 := ComputeM ([ expand(y-1d[1]), Id[21]], Id, td‘f/zg(x, Y, Z, W))[2];
]

MonlList2 := [yx,

|:> with(LinearAlgebra) :

|:> interface(rtablesize = infinity) :

[ > ReducedRowEchelonForm(Mat?2);

0100
0001

=> Id = [op(Id), Y +2-y-w+ W};

Wz—i—2wy+);

Mat3 =

SO O O B O = O = O O O O

S O O o = O = = = O O O
S O O O O = O = O O O O

0
0
2
0
0
0
0
1
1
0
1
0

S O O O O O B O O O O =

S O O O = O = O O = O O

—~

_> MonlList3 := ComputeM map

Ad[ 2], Id[3], y-1d[ 2], x-1d

MonList3 = [y’ x, V, Xy z, V 7, v 7*
W]

|—|A

y WXV,

| >

1010 -10

2 0

1

— O O O O H O O O = N

-}

B RM3 := ReducedRowEchelonForm(Mat3);

1

0
0
0
0
0
0
1
0
1
1
0
0

-1
1
1

I
Y

0
0
0
2
1
0
0
1
1
1
1
0

oo~oo+~oooooow
»—aoooooooor—aoo%

VY2, WX YW, W2,

> Mat3 = ComputeM( map(x— expand(x), [y-z-1d[1], I
Id[ 2], Id[ 3], )/Id[ 1, x-Id[51]), Id, tde g(Xx,

x—expand(x), [y-z-Id[ 1
]]), Id, tdeg(x, y, z, W))[2],
VW, WXZ, WYz, W2 WX, WY, W 2,

~
~—
—

= O O O O O O O o N

3],
1]
0
0
0
1
0
0
0
0
0
1
0
1

);

_ o O O O O O O o o = O

Id[1], x-Id[5], z

31, y*-Id[1]

Id=[X+Y+2z2+W, WX+WZ+Xy+yz, WXY+WXZ+WYyz+xyz wxyz—1,

, X-1d[ 5

[5], z

(5)

(6)

(7)

(8)

(9)



(10000000 -2 00 1 -1 1
01000000 O 0O -3 0 -2
00100000 -1-10 1-1 1
00010000 2 00 0 1 0
00001000 0 10-1 0 -1
ez | 00000100 1 00-1 0 -1 10)

00000010 0 00 2 0 1
00000001 1 10 0 1 0
00000000 0 01 1 1 1
00000000 O 0O O O O
00000000 O 0O O O O
00000000 O 0O O O O

pairs: {1,3},{1,4},{1,5}.{2,3},{2,4}.{2,5},{3,4}.{3,5}.{4,5}

degrees 3 4 3 3 4 3 4 4 5

B'={1,3}, {1,5}, {2,3}, {2,5}

L = {yz*fl = x*y*z + y"2*z + y*z"2 + y*z*w,
f3 = X*y*z +y*z*w+z*w*X+w*x*y,
yA2*f1l = x*y"2 + yh3 + z*y"2 + wry"2,
X*f5 = X*yN2 - X"2*W + X*y*w - X*z*w,
z*f2 = xX*y*z + y*z"2 + z"2*wW + Z*xX*w,
f3 = X*y*z + y*z*w+z*w*X+w*x*y,
y*f2 = X*yN2 + yN2*z+y*z*wHX*y*w,
X*f5 = x*y"2 + 2*x*y*w + x*w/2}

> for ito RowDimension(RM3) do

poly :=0:

for j to ColumnDimension(RM3) do

poly = poly + RM3[ i, j]-MonList3[ j];
end do:
Iprint(sort([op(poly)], (a, b) — TestOrder (b, a, tdeg(x, ¥, z, w))));
end do:

[yr2*x, -2*w*y*z, wh2*y, -w"2*z, wn3]
[yr3, -3*wN2*y, -2*w"3]
[Xx*y*z, -w*y*z, -w*z"2, w"2*y, -wh2*z, w"3]
[yrh2*z, 2*w*y*z, wh2*z]
[y*z"2, w*z"2, -wh2*y, -w”3]
[W*x*y, w*y*z, -w"2*y, -w"3]
[yr2*w, 2*w/h2*y, wh3]
[W*x*z, w*y*z, w*z"2, wr2*z]
[wh2*x, wr2*y, whr2*z, w”3]




[0]
[0]
[ 0]
> f6:= add(RM3[5, j]-MonList3[j], j=1..nops(MonList3) );
i f6:=-W —Wy+wzZ +y7 (11)
> BC4[3];

W —Wy+wZ +y7 (12)
(> 1d = [op(Id), f6];
Id = [x+y+z+w, WX+WZ+XY+YZ WXY+WXZ+WYZ+XYZ wxyz—1, (13)

i W A2 WY+, -W —Wy+wz +y7Z]

> Mat4 := ComputeM( map(x— expand(x), [y-z-w-Id[1], Id[4], z-w-Id[2], w-Id[3], y
1d[3], x-z-1d[5], y- 22 Jd[1), x-Id[6), Z2-1d[ 2], z-1d[3), y-Id[6], Z*-1d[51]), Id,
tdeg(x, y, z, w))

00O

SO O O O O O O O O O O oo O o o o o o o o o+

S O = B B O O B O O O O O o o+ O NN o o o o
o o O = O = O O =2 O O O O = O O o o = o O O

_ O O B O O O O O O O o o o o+ o+ o o o o

S O =H O O O =2 O O O O O O O =2 O o O O = N o

_ O H O O O O O O O o o o+ +H O o O O N+ o

_ O O O O O O O O o o o o+ o o o o o+ o o

Mat4 = (14)

S B B O B O O O O O OO O oo oo oo oo oo oo oo

_ P O O O O O O O O O O O o o o o o o o o o

[1
0
0
0
0
0
0
0
0
0
0
0
0
1
0
0
1
0
0
0
0
0
0

S = O O O O OO OO 0O O =M= H OO OO O o o o

S O O O O O O O o o o o - o = o o o = o O

S O O O O O O O o o o = = O O = O O O O O
OOOOOO#—‘OOOOOOOOOOOOO#—‘O‘—‘
S O O O = = O = O = =2 O O O O O N O O O O =
S O O O OO O = =B O B O O OO o oo oo o = 0o oo oo o0
S B O O O O o o+ O +H B O O O o o o o o o o
S O O O O = O = = O = O = = = O O O N O O O
S O O O O O o o = O O B O o o = O o o o o o0
S O O FH H B O O O O O O o o o o+ o o o o o

SO O O O O O O O O +H O O O O o o +H O o o o o




> RM4 := ReducedRowEchelonForm(Mat4);

(1000000000 00000 0O -1 0 -1 1]
0100000000-10000-10 0 0 0 1
0010000000 0000DO0-10 2 0 2 0
0001000000 10000 10-1 0-1-1
0000100000 00000 20 -1 1-1-2
0000010000 00000 0O -3 0-2 0
0000001000 00000 0O O O O -1
0000000100 00000 -20 2 -1 2 2
0000000010 10000 00 1 0 1 O
0000000001 00000 10-1 0-1 0
M4 | 0000000000 01000-10 0-1 0 1 1)
0000000000 00100 00 2 0 1 0
0000000000 00010 00 1 0 1 1
0000000000 00001 10-1 1-1-1
0000000000 00000 01 1 1 1 0
0000000000 000OODO0 OO O O O O
0000000000 00000 0O O O O O
0000000000 00000 0O O O O O
0000000000 00000 0O O O O O
0000000000 00000 0O O O O O
0000000000 00000 0O O O O O
0000000000 000OODO0 OO O O O O

> MonList4 := ComputeM ( map(x— expand(x), | y-z-w-1d[1], Id[4], z-w-1d[2], w
Id[3), y-1d[3), x-z-1d[5], y-Z°-1d[1], x-Id[6], Z*-1d[2], z-1d[3], y-Id[6], Z*
1d[51]), Id, tdeg(x, y, z, w)) [2];

MonlList4 = [X); Z, yz2 X, ); ZZ, yzg, WX);, y3 W, WX Z, W); Z, wxzz, wyzz, (16)

WZ, WXV, VW W XZ WYz, WZ, Wx, Wy, Wz, wh 1]

> for ito RowDimension(RM4) do
poly =0
for j to ColumnDimension(RM4) do
poly = poly + RM4[ i, j]-MonList4[ j];
end do:
Iprint(sort([op(poly)], (a, b) — TestOrder(b, a, tdeg(x, ¥, z, w))));
end do:




[x*y"2*z, -wAr3*y, -w™4, 1]
[y*z"2*x, -w*z"3, -w"r2*z"2, 1]

[y”

2*zN2, -wh2*z72, 2*w/h3*y, 2*w"4]

[y*z"3, w*z"3, whr2*z"2, -w"3*y, -wr4, -1]

[W*x*yn2, 2*wAr2*z72, -wnr3*y, wr3*z, -wh4, -2]
[yr"3*w, -3*w”r3*y, -2*w"4]

[W*x*y*z, -1]

[w*yn2*z, -2*wNh2*z"N2, 2*w/3*y, -wh3*z, 2*wn4, 2]
[w*x*z"2, w*z"3, wr3*y, w4]

[w

*y*zN2, wh2*zN2, -wh3*y, -wh4]

[wr2*x*y, -wh2*z"r2, -w”r3*z, 1]

[yr2*wh2, 2*w/3*y, wn4]

[wr2*x*z, wr3*y, wh4, 1]

[wh2*y*z w"2*zr2, -wn3*y, wr3*z, -w™4, -1]
[WA3*x, wr3*y, wr3*z, wh4]

[O]
[0]
[0]
[O]
[0]
[0]
L[ O]

> [7:= add(RM4[ 14, j]-MonList4|[ j], j = 1..nops(MonList4) );

f7=-w=—wWy+wWz+wyz+w 7 -

(> BC4[4]:

—\/\/3)/+\4f32+\4;yz+\4/222—1

> Id = lop(1d), [7];
Id = [x+y+z-|—w WX+WZ+Xy+Yyz wxy+wxz+wyz+xyz wxyz-—1,

wz—i—Zwy—l—); W — wzy+w22+yz2 -wh \4/3)/+W32+WZ)/Z+WzZZ
_1]

> Mat5 := ComputeM( map(x— expand(x), [W-y-z-Id[1], x-1d[ 7], w*-z-Id[2], W*

d[3], y-1d[4], x-z-w-1d[ 5], z-1d[ 4 ],wad[ ],wId[ ],xId[ ],WZzId[ 5],y

1d[7], w-1d[6], z-1d[7]]), Id, tdeg(x, y, z, w) ) [1];

Mat5 —[[0 0, 0,0, 0 O 0,00,0,0,0,0,0,0,0,0,0,0,0,0,1,1, 1, 1],

0,0,1,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, -1, 0],
01,00,0,0,0,0,o,o,o,o,o,o,o0,0,0,0,0,0,0,0, -1,0,0],
000,1,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, -1]
,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, -1,0,0,0,0,0, 0, 0],
0,0000,0,0,0,0,1,0,0,0,0,2,0,1,0,0,0,0,0,0,0, 0],
0000,1,0,0,0,0,0,0,2,0,0,0,1,0,0,0,0,0,0,0,0, 0],
01072000000,1,0,0,0,0,0,0,0,0,0,0,0,0,0, 0],
000000,1,000001,0,-1,0,-1,0,0,0,0,0, 0,0, 0],
0,0,0,0,0,0,0,o,o,o,o,o,0,0,0,0,0,1,1,1,1,0,0,0, 0],

— o o o 1 o~

(17)

(18)

(19)

(20)



0,0,0001,1,1,0,0,0,0,1,0,0,0,0,0,0,0,0,0,0,0,0],
0,001,1,0,1,0,0,0,0,1,0,0,0,0,0,0,0,0,0,0,0,0,0],
0,001,001,0,00,10,1,0,0,0,0,0,0,0,0,0,0,0,0],
0,001,0,0,0,0,1,0,1,1,0,0,0,0,0,0,0,0,0,0,0,0,0],
0,0,0,0,0,0,0,0,0,0,1,1,1,0,0,1,0,0,0,0,0,0,0,0,0],
o,0,0,0,0,0,0,0,1,1,0,1,0,0,1,0,0,0,0,0,0,0,0,0,0],
0,0,0,0,0,0,0,0,0,0,0,0,0,1,1,1,1,0,0,0,0,0,0,0,0],
0,0,0,0,0,0,1,1,0,0,0,-1,1,0,0,-1,0,0,0,0,0,0,0, -1,0
0,000,1,0,1,0,0,-1,0,1,0,0,-1,0,0,0,0,0,0,0, -1,0,0
0,0,0,0,0,0,0,0,0,0,0,1,1,0,-1,1, -1,0,0,0,0,0, 0,0, -1
0,0,0,1,0,1,0,0, -1,0, 1, 0, O, 10000000—1000]

> MonlList5 := ComputeM( map(x— expand(x), [W*-y-z-1d[1], x-1d[7], w/-z-1d[ 2], W*
Ad[3], y-1d[4], x-z-w-1d[5], z-1d[4], wad[ ] wId[ ] xId[ ], WZZId[ ],
Jd[7], W-1d[6], z-1d[7]]), Id, tdeg(x, ¥, z, W)

MonlList5 = [w2 xzyz, WX); Z, wxyzz, Wzyzx Wzyzz szz2 Wz)/ZZ W223 (21)

M}XY,M/S)/Z,M/?‘XZ, \/Vg)/Z,M/gZZ, W4X,W y,w Z, \4;, WX, YW, WZ \4/2, X W Z,

]
l,
l,
]

w]
B RM5 := ReducedRowEchelonForm(Mat5);
RM5:=1][1,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,1,1,1,0, 0,0, 0], (22)

01,0,0,0,00,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, -1,0, 0],
001,0000,0,0,0,0,00,0,0,0,0,0,0,0,0,0,0, -1, 0],
0001,000,0,0,0,0,00,0,0,0,0,0,0,0,0,0,0,0, -1],
000010000000 -2,0,0,-1,0,0,0,0,0,0, 2,0,4],
000001000000 -1,0,0,0,0,0,0,0,0,0, 1, 1, 2],
00000010000010,0,00000,0,0,-1,0, -1],
00000001,000010,0,00000,0,0,0, -1, -1],
00000000,1,000-1,0,0,-1,0,0,0,0,0,0,0,0,1],
0000000001,0000,00,-1,0,0,0,0,0, 2,0, 2],
00000000001D00,0,00,0,00,0,0,0,1,0, 2],
0000000000011001,00,0,0,0,0, -1,0, -2],
0000000,0,0,00001,01,0000,0,0,1,0, 1],
00000000,0,000001,01,000,0,0,-1,0, -1],
0000000,0,0,0,0000,00011,1,1,0,0,0,0],
0000000,0,0,0,000,0,00000001,1,1,1],
00000000,0,0,000,0,0,0,0,0,0,0,0,0,0,0,0],
0000000,0,0,0,000,0,0,0,0,0,0,0,0,0,0,0,0]
00000000,0,0,000,0,0,0,0,0,0,0,0,0,0,0,0],
00000000,0,0,000,0,0,0,0,0,0,0,0,0,0,0,0],

[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[



. [0,6,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0]]

> for ito RowDimension(RM5) do

poly := 0

for j to ColumnDimension(RM5) do

poly = poly + RM5[ i, j]-MonlList5[ j];
end do:
Iprint(sort([op(poly)], (a, b) — TestOrder (b, a, tdeg(x, ¥, z, w))));
end do:
[WA2*xN2*y*z  y*w, w*z, wr2]
[W*x*yr2*z, -y]
[Wxx*y*zn2 -z]
[wh2*y*z*x -w]
[wh2*yn2*z -2*wA3*z"2, -wh4*z, 2*y, 4*w]
[WA2*x*zn2, -wh3*z"2, Yy, z, 2*W]
[wA2*y*zn2 whr3*z7h2, -y, -w]
[wnr2*z7r3, whr3*z72, -z, -w]
[WA3*x*y, -wA3*z"2, -wh4*z, w]
[wWA3*yn2, -wAr5, 2%y, 2*w]
[WA3*x*z, y, 2*w]
[wWA3*y*z, wh3*z72, whd*z, -y, -2*w]
[wWhd*x, whd*z, y, w]
[wrd*y, wA5, -y, -w]
[W*x, y*w, w*z, wh2]
[X, y! Z’ W]
[0]
[0]
[0]
[0]
[0]
> [8:= add(RM5][8, j]-MonlList5[ j], j=1..nops(MonlList5));
8=WZ+WZ2—-w—1z
> [9:= add(RM5[14, j]-MonlList5] j], j= 1..nops(MonlList5));
fO=w +wy—w-y

[ > Id := [op(Id), 8, [9];

WA 2WY+), -W —Wy+wZ+yZ, -W—wWy+wz+wWyz+w 72
| LW AW 2wz W W y—w—y]

(> BC4[5;

i wWHwy—w—y

(> BC4[6];

WZ+WZ2 —w—2z

Id=[x+y+z+w,wx+wz+xy+yz ny+wxz+wyz+xyz wxyz—1,

(23)

(24)

(25)

(26)

(27)

> Mat6 = ComputeM( map(x—>expand [\/\; Z-1d[1], x-1d[8], w*y-Id[ 1], x-1d[9],
whId[2], w*Id[5], y-Id[9], WP-z-1d[6], y-1d[8 z2 Id 1, WId[ 7], z-Id[9]]),



Id, tdeg(x, y, z, w) ) [1];

Mat6 -=[[0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,1,0,0,0,0, 2,0,1],
[0,0,0,0,0,0,0,10,0,0,20,1,0,0,0,0,0,0,0,0, 0],

[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[
[

> MonlList6 := ComputeM(map(xeexpand

MonList6 = [W Z° x

00000001000,1,0,0,0,
0000000000010,10,0,0,0,0,0,

-1,0,0,0,0,
-1,0, -1],

-1,0,0],

001001,000,0,0,0,0,0,0,0,0,0,-1,0,0, -1, 0],

000001000100000,0,0,0,0,0,0,

0000001,000,1,0,0,0,

,00100000,0,0,0,0,0,0,0,
01001,00,0,0,0,0,0,0,0,0,0,0, -1, 0,0,

-1, -1],
-1,0,0,0,0,

-1,0,0,-1,0,0,0

-1,0,0],

00000000100010000,-1,0,0,0, -1, 0],

0,10,0,0,1,0,0,

-1,0,0,0,
00001000010, -1, 0,

-1,

]
]
]
]
-1,0,0,0],
]
]
]
0,00,00,0,0,0,0,0],

]

-1,0,0,0,0,0,0,0,0,0],

00000000,0,00000001,1,10,0,1,0],
00000,0,°-0°-0°0°0°0°0001,1,0,1,0,0,1,0,0]
0000000°0°0°0°0°0°0000000,1,1,1,1],
,1,1,0,0,1,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, 0],

00000011,1001,0,0,0,0,0,0,0,0,0,0,0]
0000001010101,0,0,0,0,0,0,0,0,0,0],

]
]
]
000111,000,1,0,0,0,0,0,0,0,0,0,0,0, 0,0],
]
]
]

00000°0°0000111,1,0,0,0,0,0,0,0,0,0]

0,1,1,0,

-1,1,0,0,0,-1,0,0,0,0,0,0,0, 0,

000000001,1,0, -1, 1,

1d[9 ]w Id[ 2], wh Id[5]

, v-1d[9

-1d[91]), Id, tdeg(x, y, z, w) ) [2]

-1,0,0,0,0,0,0,0, 0,

[wzz31d

szld ], v 1d[ 8

-1,0,0,0,0],
-1]]

, x-Id[ 8], w4-y-1d[1], X
z2 1d[7

Wy, W2 W3x22 Wy Z w2, wyx, whA whyz,

1, WId[ 7

W4ZZ,\/VSX,W5)/, \/VSZ, M/G,)/X, );,XZ,)/Z, Zz,WX,)/W, W Z, \/\/2]

=> RM6 := ReducedRowEchelonForm(Mat6);
RM6:=1[1,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,1,0,1, 0, 1],

[Ol 1! Ol 0’ O’ 0’ 0’ 0! Ol 0’ O’ 0’ 0’ 0! Ol 0’ O’ 0’ 0’ 0! _1’
001,000,0,0,0,0,0,0,0,0,0,0,0,1, -1,0, -1,

[
[
[
[
[
[
[

1, -1],

01 01 Ol 1a01 0’ 01 01 Ol Oa O’ 0’ 01 01 Ol Oa O’ 1’01 01 Ol 2a0]a
01 01 Ol Os 110’ 01 01 Ol Os O’ 0’ 01 01 Ol Os O’ _1101 Os O’ _11 1]1
01 01 Ol Os O’ 1’01 01 Ol Os O’ 0’ 01 01 Ol Os O’ _1101 Os 11 _21 1]1

000000,1,00000,-1,0,0,0,0,1,0,0, -

01 01 Ol Oa O’ 0’ 01 1101 Oa O’ 0’ 01 _1501 0’ 01 01 Ol Oa 21 0’ 2]’
01 01 Ol Os O’ 0’ 01 01 1105 O’ 0’ 1101 Ol Os O’ _1101 Os O’ _110]1

1, -1],

11 11 _1]5

(28)

(29)

(30)



0000000001,0000,000,100, -1, 1, -2],
00000000001010000000,1,0,1],
00000000,000101,000,00,0, -1,0, -1],
00000000,0,00000,1,00100, -1,0, -1],
00000000,0,0000001,00,00,2,0,1],
00000000,0,00000001,1,1,0,0, 1, 0],
00000000,0,00000,000001,1,1,1],
00000000,000000,0,0,0,0,0,0,0,0,0],
00000000,000000,0,0,0,0,0,0,0,0,0],
00000000,000000,0,0,0,0,0,0,0,0,0],
00000000,000000,0,0,0,0,0,0,0,0,0],
00000000,000000,0,0,0,0,0,0,0,0,0],
0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0]]

[
[
[
[
[
[
[
[
[
[
[
[

(> forito RowDimension(RM6) do

poly := 0 :

for j to ColumnDimension(RM6) do
poly = poly + RM6] i, j]-MonList6] j];

end do:

Iprint(sort([op(poly)], (a, b) — TestOrder (b, a, tdeg(x, ¥, z, W))));

end do:
[wh2*z73*x, z"2, y*w, wr2]
[wA2*zA3*y, -y*w, w*z, -w"2]
[wh2*zr4, y*z, -z"2, -y*w, w*z, -w"2]
[WA3*x*zN2, y*z, 2*w*z]
[WA3*y*zn2, -y*z, -w*z, w"2]
[wWA3*z"3, -y*z, y*w, -2*w*z, w”2]
[whd*y*x, -wAB*z, y*z, -y*w, w*z, -w"2]
[wha*yn2 -wr6, 2*y*w, 2*w"2]
[wrd*y*z, wAr5*z, -y*z, -w*z]
[wWrhad*zr2, y*z, -y*w, w*z, -2*w"2]
[WAS*x, whS*z, y*w, wr2]
[wAS*y, w6, -y*w, -w"2]
[y*X! y*Z! 'y*W’ 'WAZ]
[yr2, 2*y*w, w"2]
[x*z, y*z, z"2, w*z]
[w*x, y*w, w*z, wr2]
[0]
[0]
[0]
[0]
[0]
L[ 0]
> BC4[7];

w422—2W2—wy+wz+yz

(31)



> F:= add(RM6[ 10, j]-MonList6[ j], j = 1..nops(MonList6) );
F1=W4ZZ—2W2—W)/+WZ+)/Z (32)



